
1)	   
 

 

2)	 Accept any correct partitioning, such as: 	
520 324 = 520 000 + 300 + 20 + 4	
520 324 = 500 000 + 20 000 + 324	
520 324 = 510 000 + 10 000 + 200 + 124

Number in Digits Number in Words Place Value Representation

352 124

three hundred and 
fifty-two thousand,  
one hundred and 
twenty-four

602 173

six hundred and 
two thousand, one 
hundred and seventy-
three

224 185

two hundred 
and twenty-four 
thousand, one 
hundred and	
eighty-five

160 201
one hundred and 
sixty thousand, two 
hundred and one
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1)	 Terri is incorrect. This number should be 603 402. Terri has placed the 3 digit in the ten thousands 
place rather than the thousands and the 2 digit in the tens place rather than the ones.

2)	 Correct.	
Incorrect. This makes 230 325.	
Correct.	
Incorrect. This makes 230 325.

1)	

a)	 Mr Strings  £450 760                  b)   Ms Percussion  £275 700

£750 000

£640 000 £110 000

£750 000

£530 000 £220 000

£550 230

£300 230 £250 000

£295 900

£240 000 £55 900

£550 230

£200 230 £350 000

£295 900

£260 000 £35 900
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